1. Vypočtěte determinanty
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2. Řešte rovnici:
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3. Dokažte, že platí:
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4. Vypočtěte determinanty

a)
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5. Dokažte, že platí:

a)
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6. Vypočítejte determinant:

a) 
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7. Vypočítejte převedením na trojúhelníkový tvar:

a)

[image: image26.wmf]5

1

1

1

1

1

4

1

1

1

1

1

3

1

1

1

1

1

2

1

1

1

1

1

1


b)  
[image: image27.wmf]÷

÷

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

ç

ç

è

æ

n

...

1

1

1

...

...

...

...

...

1

...

3

1

1

1

...

1

2

1

1

...

1

1

1


_1137776187.unknown

_1137778333.unknown

_1137778521.unknown

_1137779034.unknown

_1137779094.unknown

_1137779302.unknown

_1137778962.unknown

_1137778907.unknown

_1137778448.unknown

_1137778482.unknown

_1137778412.unknown

_1137776444.unknown

_1137778272.unknown

_1137777684.unknown

_1137777709.unknown

_1137776341.unknown

_1137776386.unknown

_1137776233.unknown

_1137775699.unknown

_1137775869.unknown

_1137776101.unknown

_1137775806.unknown

_1137775581.unknown

_1137775638.unknown

_1137775497.unknown

